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Solving equations

One Step:






Two Step:
a).  x + 7 = 12  

b).  -3x = -12


c). 2x – 7 = 11
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+ 2 = -1
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Variables on Both Sides:




From a Word Problem:



e).   4x – 10 = 6x + 40



  

Graphing Ordered Pairs on a Coordinate Plane & Finding Slope
a). Plot the following points and label with the letters.

A (-2, 5)
B (3, 4)
C (-5, 0)        D (0, -1)

b). Draw a line between A and D
Find the Slope:  _____

c). Draw a line between C and B

Find the Slope:  _____

d). At what point do the lines intersect?

Brianna has $40 in her account and she will deposit $10 each week.  Ashley has $400 in her account, but she will withdraw $20 per week.  


After how many weeks will they have the same money?








